Current Contract Information

Change Notice No. 7
Contract No. 12101

Page 5 


State of Washington

Current Contract Information

Change Notice No. 7
Effective: July 15, 2008
	Contract number:
	12101
	Replaces Contract:
	10595

	Contract title:
	Guardrail, Terminals and Components.                Commodity Code:   5421

	Purpose:
	TEMPORARY CONTRACT EXTENSION PENDING REBID

	Term:
	January 15, 2006
	through:
	August 28, 2008

	For use by:
	Department of Transportation, Washington State Political Subdivisions and Non-Profit Corporations

	Contract type:
	This contract is designated as mandatory use.

	Scope of contract
	This contract is awarded to one contractor.

	Contractor :
	Coral Sales Company
	Contact:
	Lauren Van Bishler 

	Address:
	Post Office Box 22385

Milwaukie, OR 97015-0577
	
	Phone:
	503-655-6351/

1-800-538-7245

	
	
	FAX:
	503-657-9649

	Fed. I.D. No.:
	93-0745050

	Supplier No.:
	6588

	Email:
	Lauren@coralsales.com

	Ordering information:
	See page 2 Note III 

	Ordering procedures:
	See page 2 Note II 

	Special notes:
	See Special Conditions, Item 2 Minimum Order

	Related product contracts:
	Guardrail Terminals & Components, 10595 


This page contains key contract features. Detailed information is listed on succeeding pages.  For more information on this contract, or if you have any questions, please contact your local agency Purchasing Office, or you may contact our office at the numbers listed below.

	Procurement Unit Manager:
	Kenneth A Woodfork, C.P.P.B.
	Assistant:
	Christine Schoepfer

	Phone Number:
	(360) 902-7422
	Phone Number:
	(360) 902-7193 

	Fax Number:
	(360) 586-2426
	Fax Number:
	360) 586-2426 

	Email:
	kwoodfo@ga.wa.gov


	Email:
	CSchoep@ga.wa.gov


Visit our Internet site: http://www.ga.wa.gov/proc.htm
	Payment address:
	Same as above

	Order placement address:
	Same as above

	Minimum orders:
	None. See Special Conditions No. 2 Below

	Delivery time:
	14 days After Receipt of Order (ARO)

	Payment (Credit) Card:
	Surcharge for use of Credit Card Deleted

	Payment terms:
	30 days

	Shipping destination:
	FOB Destination, freight prepaid and included in the price bid on all orders for $2000.00 or more. 

	Freight:
	On orders less than $2,000.00 the freight shall be prepaid and add to the cost of the order. See Special Conditions No. 2 below

	Contract pricing:
	See Attachment “A”


	Estimated Term worth:
	$500,000.00

	Current participation:
	$0.00 MBE
	$0.00 WBE
	$500,000.00 OTHER
	$0.00 EXEMPT

	
	MBE 0%
	WBE 0%
	OTHER 100%
	Exempt 0%


Notes:

I. This contract is subject to RCW 43.19.190(2) & RCW 43.19.1905(7): which authorizes state agencies to purchase materials, supplies, services, and equipment of equal quantity and quality to those on state contract from non-contract suppliers.  Provided that an agency subsequently notifies the Office of State Procurement (OSP) State Procurement Officer (SPO) that the pricing is less costly for such goods or services than the price from the state contractor.

If the non-contract supplier's pricing is less, the state contractor shall be given the opportunity by the state agency to at least meet the non-contractor's price.  If the state contractor cannot meet the price, then the state agency may purchase the item(s) from the non-contract supplier, document the transactions on the appropriate form developed by OSP and forwarded to the SPO administering the state contract. (Reference General Authorities document)

If a lower price can be identified on a repeated basis, the state reserves the right to renegotiate the pricing structure of this agreement.  In the event such negotiations fail, the state reserves the right to delete such item(s) from the contract.

II. State Agencies: Submit Order directly to Contractor for processing.  Political Subdivisions: Submit orders directly to Contractor referencing State of Washington contract.  If you are unsure of your status in the State Purchasing Cooperative call (360) 902-7415.  

III. Only authorized purchasers included in the State of Washington Purchasing Cooperative (WSPC) and State of Oregon Cooperative Purchasing Program (DASCPP/ORCPP) listings published and updated periodically by OSP and DAS may purchase from this contract.  It is the contractor’s responsibility to verify membership of these organizations prior to processing orders received under this contract.  A list of Washington members is available on the Internet http://www.ga.wa.gov/pca/cooplist.htm, and a list of the Oregon members is available through the Vendor Information Program (VIP) which you can access through their Internet site under “Contracts and Bids” at: http://www.das.state.or.us/pages/purchasing/new/index.html Contractors shall not process state contract orders from unauthorized users.

Special Conditions: 

1. Current Contract Information (CCI)

This Current Contract Information (Contract Change Notice No. 7) in agreement with Coral Sales Company temporarily extends for an additional 45 days (July 15, 2008 through August 28, 2008) or until an effective date of a new contract, whichever occurs first. All existing terms, conditions, pricing and specifications will remain unchanged. 

2. Current Contract Information (CCI)

This Current Contract Information (Contract Change Notice No 6) in agreement with Coral Sales Company temporarily extends this contract for a period of six (6) months or less while a rebid for Contract 12101, terms and conditions takes place. At such time the new contract, Contract 07007, would be awarded and Contract 12101 will expire or which ever takes place first. This extension is subject to existing terms, conditions, and specifications.

3. Surcharge Adjustments

The contract surcharge is to offset the continuous rise in market pricing for iron and steel products 
and to 
allow for continuous contract coverage with out having to bid agency requirements on a case 
by case basis. 
Surcharge will be reviewed at term interval for contract price adjustment period. All 
other terms, conditions remain unchanged. To compute contract surcharge use the annual 
average 
baseline of 103.8 from the year 2003 for calculation of surcharge. 


A.
Surcharge will be calculated using the Producer Price Index Industry Data, Iron & Steel Mills, 
Bureau of Labor Statistics, and U.S. Department of Labor, as posted on their website. This 
PPI appears to run 30 to 60 days behind the current month. So using the current published 
May 
index in July, June index in August, etc. The surcharge would therefore float up or 
down 
based on release of each months index and continue through the term of the contract or 
at a point for term adjustment. Copy of PPI attached for reference as page 5

B.
Calculation of surcharge will be done by Coral Sales and added to invoice as follows: 

· Using the annual average index 103.8 for year 2003 as a base line for calculation.

· Take the most recently released index in the current year, in this case 153.1 from 


December 2004. 

· Calculation is performed as follows:

· 153.1 / 103.8 = 1.47495 (factor).  

· The surcharge for the month would be 48%

C. Use the following to convert factor to percentage:

· Using the factor 1.47495 multiply by 100 = 147.495.
· Using the calculation 147.495 subtract 100% = 47.495 or rounded 48%.
4. Minimum Order: 

None. However, Freight is free on board (FOB) destination, Freight prepaid and included on all 
orders 
over $2,000.00. If order is under $2,000.00 then the actual cost of freight will be prepaid and 
added to invoice. Supplier percent increase to bid pricing for delivery to State of Oregon 
DASCPP/ORCPP members no additional cost. 

5. CONTRACTORS USAGE REPORTS


Contractors are required to provide the Office of State Procurement with a Quarterly Sales 
Report 
based on the calendar year.  For example, if the contract begins on November 10, the 
contract quarter ends on December 31.  Thereafter, each subsequent quarter will be in  90 
day 
increments, i.e., Jan1-March 31; April 1-June 30, etc.  Reports are due 30 days after the 
contract quarter ends.  

A copy of the Sales and Subcontractor Report (This report is for dollars spent by all customers) and Item Usage Report (This report is for Department of Transportation Use to determine item usage) will be required under this contract.

Total purchases for each agency, university, and college must be listed separately.  Total purchases for all political subdivisions and non-profit organizations must be summarized as one customer.  Reports may be rounded to the nearest dollar

	


	U.S. Department of Labor
Bureau of Labor Statistics
	[image: image2.jpg]




	
	Bureau of Labor Statistics Data


	[image: image3.png]



	www.bls.gov
	[image: image4.png]



	Search | A-Z Index
	[image: image5.png]




	  BLS Home | Programs & Surveys | Get Detailed Statistics | Glossary | What's New | Find It! In DOL 

	


	Data extracted on: January 27, 2005 (12:35:38 PM) 

Producer Price Index Industry Data

Series Id:  pcu331111331111
Industry:   Iron & steel mills
Product:    Iron & steel mills
Base Date:  8206

Year
Jan
Feb
Mar
Apr
May
Jun
Jul
Aug
Sep
Oct
Nov
Dec
Annual
1994
110.6
111.1
111.2
111.1
111.5
111.3
112.2
113.0
113.6
114.1
114.5
114.4
112.4
1995
116.6
118.1
119.3
120.1
120.2
120.2
120.1
119.5
118.6
117.6
116.3
115.6
118.5
1996
114.8
113.5
113.2
113.4
113.7
114.3
114.2
114.5
114.7
114.3
114.0
113.7
114.0
1997
113.8
114.1
114.1
114.3
113.9
114.1
114.3
114.3
114.6
114.3
114.5
114.0
114.2
1998
113.9
113.2
112.9
112.9
112.8
112.7
112.6
112.1
110.8
109.1
107.2
105.7
111.3
1999
104.0
102.6
102.4
102.2
101.5
102.0
101.5
101.3
101.0
101.4
101.7
102.3
102.0
2000
103.1
103.7
104.4
105.6
106.0
105.8
105.7
104.6
104.3
103.1
101.8
100.9
104.1
2001
99.3
98.5
98.4
97.6
97.3
96.9
97.1
96.7
96.1
95.6
95.2
94.7
96.9
2002
94.1
94.1
95.4
96.2
97.7
99.5
101.1
102.7
104.8
105.4
105.1
104.7
100.1
2003
104.2
104.0
103.7
103.8
103.3
102.9
102.3
102.3
102.8
104.4
105.3
106.7
103.8
2004
109.9
116.0
121.7
129.8
136.3
134.8
138.6
144.4
146.8(P)
149.8(P)
152.3(P)
153.1(P)
136.1(P)
P: Preliminary. All indexes are subject to revision four months after original publication.



	


TITLE:  GUARDRAILS, METAL, AND COMPONENTS
TITLE:  GUARDRAILS, METAL, AND COMPONENTS


Reference:  Section III, Specifications, Paragraphs 9-16 through 9-16.3(6) and Standard Plans Section C

	CATALOG “A” PRICE SHEET

	Item
	Item Description
	Price Each

	1. 
	Assembly, anchor, type 1, complete, galv. std. plan C-6 C-1b 

5421-000-010
	$99.00

	2. 
	Assembly, anchor, type 2, complete, galv. std. plan C-6a
	$169.00

	3. 
	Assembly, anchor, type 4, complete, galv. std. plan C-6c C-1b
	$99.00

	4. 
	Assembly, anchor, type 5, complete, galv. std. plan C-6d C-1b
	$199.00

	5. 
	Assembly, anchor, type 7, complete, galv. std. plan C-6f C-1b
	$99.00

	6. 
	Assembly, anchor, guardrail post, steel, type 1, 4 or 7,  8" x 6" x .1875.  tubing with 18" x 24" x 1/4" soil plate, galv.  with three 5/8" galv. ASTM A307 steel bolts with nuts (3) and washers (6) w/o wood post, std. plan C-1b   5421-000-030
	$59.00

	7. 
	Assembly, bracket, rail, steel  galv. std. plan C-6b 
	$19.00

	8. 
	Assembly, cable clip 3/4", galv. std. plan C-6d
	$1.50

	9. 
	Assembly, cable end (including cable end, 3/4" threaded rod, 3 3/4" plain washers, 2 3/4" hex nuts, and breakaway anchor angle) std. plan C-11b   5421-012-100
	$11.00

	10. 
	Assembly, cable end, spring, std. plan C-11b 5421-012-300
	$11.00

	11. 
	Assembly, cable end, turnbuckle, steel, std. plan C-11b
	$11.00

	12. 
	Assembly, parapet , galv. std. plan C-6b
	$9.00

	13. 
	Assembly, post, steel, galv. std. plan C-6b 
	$39.00

	14. 
	Beam guardrail 4' 2" galv. 12 ga. 
	$14.25

	15. 
	Beam guardrail, 7' 3 1/2" galv. 12 ga.
	$19.25

	16. 
	Beam guardrail, 7' 3 1/2" thrie beam, galv. 10 ga.
	$34.25

	17. 
	Beam guardrail, 7' 3 1/2" thrie beam, galv. 12 ga.
	$29.25

	18. 
	Beam guardrail, 7' 3 1/2" weathering, 12 ga. std. plan C-1
	$14.25

	19. 
	Beam guardrail, 7' 3 1/2" x 2 expansion panel, thrie beam galv. 10 ga.
	$34.25

	20. 
	Beam guardrail, 7' 3 1/2" expansion panel, galv. 12 ga.
	$19.25

	21. 
	Beam guardrail, 13' 6 1/2" galv. 12 ga. std. plan C-1  5421-010-010
	$49.25

	22. 
	Beam guardrail, 13' 6 1/2" thrie beam galv.10 ga. std. plan C-1a
	$74.25

	23. 
	Beam guardrail, 13' 6 1/2" thrie beam galv.12 ga. std. plan C-1a

5421-010-200
	$64.25

	24. 
	Beam guardrail, 13' 6 1/2" @6’ 3” weathering, 12 ga. std. plan C-7 

5421-010-050
	$39.25

	25. 
	Beam guardrail, 26' 1/2",galv. 12 ga. 
	$69.25

	26. 
	Beam guardrail, 13' 6 1/2" punched either type 1 anchor or 3' 1 1/2" post centers, weathering, 12 ga.
	$39.25

	27. 
	Beam guardrail, 13' 6 1/2" punched type 2 anchor, galv. 12 ga. std plan C-1a, C-6a  
	$49.25

	28. 
	Beam guardrail, 13' 6 1/2" special punched, galv. 12 ga. 
5421-010-100
	$49.25

	29. 
	Beam guardrail, 13' 6 1/2" with special punching, galv. thrie beam 10  
	$74.25

	30. 
	Beam, guardrail, 13' 6 1/2", with special punching, curved to any radius, 5' to 150', specify convex or concave, galv. 12 ga.
	$77.25

	31. 
	Beam guardrail, 7' 3 1/2"  curved to any radius (5' to 150'), specify convex or concave, galv. 12 ga. 
	$29.25

	32.

DUP
	Beam guardrail, 7' 3 1/2" curved to any radius (5' to 150'), thrie beam specify convex or concave, galv. 10 ga. 
	$39.25

	33.

DUP
	Beam guardrail, 7' 3 1/2" curved to any radius (5' to 150"), galv. thrie beam 10 ga. specify convex or concave.
	$39.25

	33. 
	Beam guardrail, 7' 3 1/2" curved to any radius (5' to 150"), thrie beam specify convex or concave, galv. 12 ga. 
	$34.25

	34. 
	Beam guardrail, 7' 3 1/2" curved to any radius (5' to 150'), weathering, specify convex or concave, 12 ga..
	$14.25

	35. 
	Beam guardrail, 13' 6 1/2", curved to any radius, 5' to 150', specify convex or concave, galv. 12 ga. The following commodity codes are for convex only. (8’) 5421-016-015 , (10’) 5421-016-020, (12’) 5421-016-025, (15’) 5421-016-030, (20’) 5421-016-035, (25’) 5421-016-040, (30’) 5421-016-045, (35’) 5421-016-047, (40’) 5421-016-050, (44’) 5421-016-055, (45’) 5421-16-060, (50’) 5421-016-065, (60’)5421-016-080, (65’) 5421-016-085, (70’) 5421-016-090.
	$77.25

	36. 
	Beam guardrail, 13' 6 1/2", curved to any radius, (5' to 150'), thrie beam, specify convex or concave, galv. 10 ga. 
	$89.25

	37. 
	Beam guard rail, 13' 6 1/2",curved to any radius, 5' to 150', galv. thrie beam 12 ga. specify convex or concave. 
	$79.25

	38. 
	Beam guardrail, 13' 6 1/2", curved to any radius, (5' to 150'), weathering, specify convex or concave, 12 ga. 

(50’convex) 5421-016-150
	$39.25

	39. 
	Beam guardrail 13' 6 1/2" expansion panel, galv. specify left or right, 12 ga. 10 ga 
	$49.25

	40. 
	Beam guardrail 13’ 6 ½” expansion panel, galv. thrie beam 10 ga.
	$74.25

	41. 
	Block, wood, for steel post  w beam 6”X8”X14” hem fir std. plan C-1b
	$8.25

	42. 
	Block, wood, for steel post thrie beam 6”X8”X21 ¾”  hem fir std. plan C-1b 
	$8.25

	43. 
	Bolt 5/16" x 1 1/2" ASTM A307, galv.  Benchstock
	$0.20

	44. 
	Bolt 5/16" x 7 1/2" ASTM A307, galv.  Benchstock
	$0.75

	45. 
	Bolt, 5/16" x 9" ASTM A307, galv.  Benchstock
	$0.75

	46. 
	Bolt, 3/8" x 1" ASTM A307 galv.  Benchstock
	$0.20

	47. 
	Bolt, 3/8" x 7" ASTM A307 galv.  
	$1.00

	48. 
	Bolt,1/2" x 1 1/2" ASTM A307 galv.  Benchstock
	$0.20

	49. 
	Bolt,1/2" x 2” ASTM A307, galv. std. plan C-11b  Bench stock
	$0.35

	50. 
	Bolt,1/2" x 7" ASTM A307 galv.
	$1.00

	51. 
	Bolt, 3/4" x 7 1/4" ASTM A325 galv.
	$1.50

	52. 
	Bolt, 5/8" x 1 1/2", ASTM A307, galv. std. plan C-6  Benchstock
	$0.30

	53. 
	Bolt, 5/8" x 7 1/2", ASTM A307, galv. std. plan C-1b  Benchstock
	$0.75

	54. 
	Bolt, 5/8" x 9 1/2", ASTM A307, galv. std. plan C-6    Benchstock
	$0.75

	55. 
	Bolt, 7/8" x 7 1/4" ASTM A325 with 3/16" hole in shaft, galv.
	$2.50

	56. 
	Bolt, button head, post, 5/8" x 10", with 0.21" oval grip, galv. for Steel posts.  std. plan C-1, C-1a          5421-032-040
	$1.25

	57. 
	Bolt, button head, post, 5/8" x 10", with 0.21" oval grip, weathering for steel posts, std. plan C-1, C-1c
	$1.25

	58. 
	Bolt, button head, post, 5/8" x 18", with 0.21" oval grip, galv. for type 1, 2 & 10, std. plan C-1, C-1a     5421-032-060
	$1.50

	59. 
	Bolt, button head, post, 5/8" x 18", with 0.21" oval grip, weathering for type 1, 2, and 10, std. plan C-1, C-1a
	$1.50

	60. 
	Bolt, button head, post, 5/8" x 20", with 0.21" oval grip, galv. 
	$1.50

	61. 
	Bolt, button head, post, 5/8" x 20", with 0.21" oval grip, weathering.
	$1.50

	62. 
	Bolt, button head, post, 5/8" x 22", with 0.21" oval grip. galv. for type 11, std. plan C-1a
	$1.50

	63. 
	Bolt, button head, post, 5/8" x 25", with 0.21" oval grip, weathering for type 3 and 4, std. plan C-1
	$1.50

	64. 
	Bolt, button head, post, 5/8"x 26" L with .021” oval grip galv. This item obsolete.  When stock depleted size will change to 25” L.

5421-032-071
	$1.50

	65. 
	Bolt, button head, splice, 5/8" x 1 1/4" with 0.21" oval grip, galv. std plans C-1, C-1a                           Bench stock
	$0.35

	66. 
	Bolt, button head, splice, 5/8" x 1 1/4" weathering.  Benchstock
	$0.35

	67. 
	Bolt, button head, splice,  5/8" x 2" with 0.21" oval grip, galv.  Benchstock
	$0.35

	68. 
	Bolt, button head, splice, 5/8" x 2" with 0.21" oval grip, weathering. Benchstock
	$0.35

	69. 
	Bolt, carriage, 5/8" x 1 1/2", galv. std. plan C-1  Benchstock
	$0.25

	70. 
	Bolt, carriage, 5/8" x 11", galv. std. plan C-1 Benchstock
	$0.75

	71. 
	Bolt, cable, "J"  5/16" x 2" upset, galv. std. plan C-11 

5421-032-010  
	$1.00

	72. 
	Cable, 3/4" dia. x 9' 0" with 1" x 7" swage stud one end, std. plan C-6d
	$19.00

	73. 
	Cable, anchor  3/4" x 6' 6" cable with 1" x 7" swage studs both ends, std. plan C-6
	$22.00

	74. 
	Cable, break-away end guard rail post 3S5.7 upper portion @ 2' 6", std. plan C-11b  5421-052-150
	$19.25

	75. 
	Cable, guardrail posts, 3S5.7 @ 5' 3" with 1/4" x 8" x 24" welded soil plate, cable, std. plan C-11  5421-052-100
	$29.25

	76. 
	Cage, anchor bolt, std. plan C-6b galv. 
	$19.00

	77. 
	Channel, rail, steel, C6x8.2, 12' 5 3/4" punched 6’ 3”, galv. 12 ga. std. plan C-1
	$19.25

	78. 
	End Section, beam guardrail, design a, galv. 12 ga. std. plan C-7
	$18.00

	79. 
	End Section, beam guardrail, design a, weathering,12 ga. std. plan C-7
	$16.00

	80. 
	End Section, beam guardrail, design a, thrie beam, weathering, 12 ga std. plan C-7a
	$36.00

	81. 
	End Section, beam guardrail, design c, galv. 12 ga. std. plan C-7 5421-057-200
	$18.00

	82. 
	End Section, beam guardrail, design c, 12 ga.
	$16.00

	83. 
	End Section, beam guardrail, design c thrie beam weathering, 12 ga std. plan C-7a
	$36.00

	84. 
	End Section, beam guardrail, design d galv. 12 ga. std. plan C-7 5421-057-220
	$18.00

	85. 
	End Section, beam guardrail, design d, weathering, 12 ga. std. plan 
	$16.00

	86. 
	End Section, beam guardrail, design f, galv. 10 ga. std plan C-7 5421-057-240
	$18.00

	87. 
	End Section, beam guardrail, design f, weathering, 10 ga. std. plan 
	$16.00

	88. 
	End Section, beam guardrail, design f, galv. thrie beam, 10 ga. std. plan C-7   5421-057-250
	$38.00

	89. 
	End Section, beam guardrail, design f thrie beam, weathering, 12 ga.  std. plan C-7a
	$36.00

	90. 
	End Section, beam guardrail, design g, galv. 12 ga. std. plan C-7 5421-057-260
	$48.00

	91. 
	End Section, beam guardrail, design g, weathering, 12 ga. std. plan C 5421-057-270
	$46.00

	92. 
	End Section, beam guardrail, design g, thrie beam, 12 ga galv. std. plan C-7a
	$38.00

	93. 
	Nut, cable, 5/16" ASTM A307, galv.  Bench stock
	$0.05

	94. 
	Nut, 5/8" ASTM A307, galv. std. plan C-6    Bench stock
	$0.20

	95. 
	Nut, 1/2" ASTM A307, galv. std. plan C-11b Bench stock
	$0.10

	96. 
	Nut, 1"  ASTM A325, galv. std. plan C-6       Bench stock
	$0.50

	97. 
	Nut guardrail, recessed, 5/8" dia., galv. std. plans C-1, C-1a, Bench stock
	$0.35

	98. 
	Nut, guard rail, recessed, 5/8" dia., weathering, std. plan C-1, C-1a Bench stock
	$0.35

	99. 
	Pipe, 10" dia. schedule 40 steel @ 1'1" with 3/8" x 4" x 12" steel plate attached, std. plan C-6d.
	$19.00

	100. 
	Plate, anchor, type 1, galv. std. plan C-6
	$9.00

	101. 
	Plate, backing 1/2" x 10 5/8" x 2' 6" std. plan C-6a
	$19.00

	102. 
	Plate, back up, guardrail beam, 1’ 0” galv. w-beam,12 ga.  

5421-042-200
	$1.00

	103. 
	Plate, back up, guardrail beam, 1’ 0”  thrie beam, galv. 10 ga. 
	$2.00

	104. 
	Plate, slip base, 12’’ x 12’’ steel, w/3S5.7 lower portion (was 1’ 6” now obsolete) std. plan C-11b  5421-055-010  
	$11.00

	105. 
	Plate, base, steel, 3/4" x 8" x 7" drilled and tapped, galv. (service level 1 bridge).
	$9.25

	106. 
	Plate, bearing, steel, 1/2" x 3" x 3", galv.(for service level 1 bridge).
	$1.00

	107. 
	Plate, bearing, 5/8" x 8" x 8", w/ 3/16"x 1" @ 8" steel plate tack welded to plate and hole centered @ 4" one side, 5" other side, galv. 
	$9.00

	108. 
	Plate, cap 8" dia. x 1/4", galv. std. plan C-6b
	$9.00

	109. 
	Plate, channel rail, steel splice, 7 3/4" x 4 ½, 2 11/16” x 2” slots on 2” centers 1 ¾” from side, 11/16” slot on 4” center 2 5/8” from opposite side 2 11/16” holes on 2” centers 1 5/8” from side, galv. std. plan C-1
	$1.00

	110. 
	Plate, soil, 18" x 24" x 1/4" w/ 2 3/4" dia. holes 6" centers, galv. std. plan C-1b   5421-042-500
	$19.00

	111. 
	Post, guardrail, steel W 6 X 9@6’0” w/beam, galv. 5421-052-600
	$19.25

	112. 
	Post, guardrail, steel W 6 X 9@6’6” thrie beam, galv.
	$19.25

	113. 
	Post, guardrail, steel W 6 X 9@7’0”   
	$20.25

	114. 
	Post, guardrail, steel W 6 X 9@8’0” 
	$21.25

	115. 
	Post, guardrail, steel W 6 X 15@6’0” thrie beam, galv. std. plan C-1b 
	$24.25

	116. 
	Post, guardrail, steel W 6 X 15@6’6” thrie beam, galv. std. plan C-1b 
	$24.25

	117. 
	Post, guardrail, steel W 6 X 15@7’0” thrie beam, galv. std. plan C-1b 
	$25.25

	118. 
	Post, guardrail, steel W 6 X 15@8’0” thrie beam, galv. std. plan C-1b 
	$26.25

	119. 
	Post, guardrail steel, S3x5.7 type g-2, galv. std. plan C-1b
	$29.25

	120. 
	Post, guardrail steel tube tsX3x6x1/4" x 3/4", galv. (for service level 1 bridge).
	$19.25

	121. 
	Post, steel, w 8 x 17 x 6'0" galv. std. plan C-6a 
	$39.00

	122. 
	Reducer, section, thrie beam, type a, 13' 6 1/2" thrie beam, specify left or right, galv. 10 ga. std. plan C-1d  Asymmetrical,  left                           5421-057-320 right 5421-057-330  
	$99.25

	123. 
	Reducer, section, thrie beam, type b, 7' 3 1/2" galv. 10 ga. std plan 

C-1d    Symmetrical  5421-057-300
	$99.25

	124. 
	Rod, 1/4" brass keeper, std. plan C-11b
	$0.10

	125. 
	Sleeve, pipe  2" schedule 40 @ 5 1/2", galv. std. plan C-6
	$1.00

	126. 
	Splice, cable, with two wedges   5421-012-500
	$11.00

	127. 
	Tag, radius id 5" x 2" x 1/4" steel plate with 3/4" dia hole 3/4" offset one side, digits 1-1/2" min height and 3/4" max width. std. plan C-2f, C-2g, 
	$3.50

	128. 
	Tube, steel, 6" x 8" x 3/16" @ 4'0" with ts 1/4" x 2-1/2" x 2-1/2" @ 8" and 1/4" x 1/2" x 2 1/2" plate welded on, std. plan C-6d
	$39.00

	129. 
	Tube, steel 6" x 8" x 3/16" x 5' 0" std. plan C-1b  5421-058-010
	$39.00

	130. 
	Washer, 3/8" ASTM A307 galv.  Bench stock
	$0.10

	131. 
	Washer, 5/16" ASTM A307 1 1/2" dia., galv.  Bench stock
	$0.20

	132. 
	Washer, 1/2" ASTM A307 galv. std. plan C-11b  Bench stock
	$0.05

	133. 
	Washer, 3/4" ASTM A325 galv.  Bench stock
	$0.20

	134. 
	Washer, 5/8" ASTM A307 galv. std. plan C-6   Bench stock
	$0.15

	135. 
	Washer, 7/8" ASTM A325 galv. Bench stock
	$0.25

	136. 
	Washer, 1" ASTM A325 galv. std. plan C-6      Bench stock
	$0.25

	137. 
	Washer, anchor rail, (snow load) 1 3/4" x 3" x 8 gage, hole dia. 31/32" on 3" side w/1 1/2" center.  11/16" on 1 3/4" side with 7/8" center.galv. std. plan C-1  Bench stock
	$0.25

	138. 
	Washer, cut 5/8" weathering, std. plan C-1  Bench stock
	$0.15

	139. 
	Washer, cut 1 3/4" galv. std. plan C-1       Bench stock        
	$0.15

	140. 
	Washer, post bolt (snow load) 4" x 4" x 1/4" plate, 11/16" dia. hole on 2" center, weathering. std. plan C-1  Bench stock
	$0.35

	141. 
	Washer, post, bolt (snow load) 4 x 4" x 1/4" plate, 11/16 dia. hole on 2" center, galv. std. plan C-1  Bench stock
	$0.35

	142. 
	Washer, rail, 1 3/4"x 5 1/4" x 0.164  8 ga with 11/16" holes (2) galv. std. plan C-6a   Bench stock
	$0.50

	143. 
	Washer, rail, reflectorized 1 3/4" x 2 1/2" x 8 gage, 1 3/4" x 3" x 8" gage, hole dia. 31/32" on 3" dia.  31/32" on 3" side w/1 1/2" center  11/16" on 1 3/4" side with 7/8" center, galv.
	$1.00

	144. 
	Washer, rail, (snow load) 1 3/4" x 3" x 8 gage, hole dia. 31/32" on 3" side w/1 1/2" center, 11/16" on 1 3/4" side with 7/8" center, weathering. std. plan C-1  Bench stock
	$0.25

	145. 
	Washer, square 5/16", (3 /16" x 1 3/4" x 1 3/4"),
	$1.00


	CATALOG ‘’B’’ PRICE SHEET   THIS IS REVISED FOR GARY 11-20-03



	SRT –350 SYSTEM COMPONENT/REPLACEMENT PARTS 

	1. Guardrail System, Slotted Terminal, 8 Post System SYRO SRT-350  

	Complete System                                                                5421-014-200

	Price Per System FOB Destination:
	$885.00

	

	2.  Component/Replacement Parts Listing For SRT-350:

	Catalog No.
	Part No.
	Description
	Price

	1. 
	9852A
	Assembly, Strut   5421-000-600
	$77.00

	2. 
	40758

4075B
	Block, 6” x 8” x 14” 
	$8.25

	3. 
	3380G
	Bolt, Hex HD 5/8’’x ½ ’’
	$0.25

	4. 
	3497G
	Bolt, Hex HD 5/8’’x 9 ½’’
	$0.75

	5. 
	3500G
	Bolt, Post 5/8’’ x 10’’
	$1.25

	6. 
	3580G
	Bolt, Post 5/8’’ x 18’’
	$1.50

	7. 
	3360G
	Bolt, Splice 5/8’’x 1 ¼’’
	$0.35

	8. 
	700A
	Bracket, Cable Anchor 
	$9.00

	9. 
	3000G
	Cable, ¾ x 6’6
	$22.00

	10. 
	9G
	Guardrail,  12/12’6/6’3/S
	$49.25

	11. 
	34G
	Guardrail, Panel #1 12/12’6/6’3/S SRT12/12-1 

5421-010-400
	$99.25

	12. 
	39G
	Guardrail, Panel #2 12/12’6/S SRT-2  5421-010-430
	$99.25

	13. 
	5968G
	Nail, 16D, SRT
	$0.10

	14. 
	3340G
	Nut, Hex 5/8’’
	$0.35

	15. 
	3910G
	Nut, Hex 1’’
	$0.50

	16. 
	705G
	Pipe, 2’  2” x 5 1/2”
	$1.00

	17. 
	775G
	Plate, Bearing, 5/8 x 6 x 8 
	$9.00

	18. 
	60588

6058B
	Post, 5.5 x 7.5 x 3’9” Metal Band Around the Top (8 Post System) Treated Pine5421-052-200 
	$33.85

	19. 
	40638

4063B
	Post, 6” x 8” x 6’ (CRT)  2 HolesTreated Pine   

5421-052-350
	$35.75

	20. 
	742G
	Sleeve, Tube 6’0     5421-058-015
	$51.00

	21. 
	9960G
	Slot Guard   5421-056-010
	$25.00

	22. 
	907G
	Terminal, 12/Buffer/Rolled
	$18.00

	23. 
	3300G
	Washer, 5/8’’
	$0.15

	24. 
	3900G
	Washer, 1’’
	$0.25

	25. 
	9961G
	Washer, Plate 3/8 x 3 x 4 
	$3.25

	
	
	
	

	Note:
	30G Rail Panel is an acceptable alternate for Item 2, Part No. 34G above.

	Note:
	4’-6’ Post Sleeve Option may be used. Part No. are as follows:

	
	740G Sleeve, Tube 4’-6’
	$46.00

	
	766G  Plate, Soil 18’’ x 24’’
	$19.00

	
	3478G Bolt, Hex 5/8’’ x 7 ½’’
	$0.75

	Note:
	When 6’ Tub Sleeve is used a bolt shall be installed as shown. Part 3478G, Hex Bolt, 5/8’’ x 7 ½’’ 


	CATALOG ‘’C-1’’ PRICE SHEET

	FLEAT –350 SYSTEM COMPONENT/REPLACEMENT PARTS 

	1.  Guardrail System, Flared Energy Absorbing Terminal, FLEAT-350 Assembly

	(Complete System)

	Price Per System FOB Destination:
	$880.00

	

	2.  Component/Replacement Parts Listing FLEAT-350 Assembly:

	 
	
	
	

	Catalog No.
	Part No.
	Description
	Price

	1. 
	E770
	Assembly, BCT Cable Anchor 
	$22.00

	2. 
	P675
	Block, out, Timber 6’’ x 8’’ x 14’’
	$8.25

	3. 
	B580754
	Bolt, Hex 5/8’’ Dia. x 7 ½’’
	$0.75

	4. 
	B581004
	Bolt, Hex 5/8’’ Dia. x 10’’
	$0.75

	5. 
	B581002
	Bolt, H. G. R (Post 2 Only) 5/8’’ Dia. x 10’’
	$1.25

	6. 
	B581802
	Bolt, H. G. R (Post 3-5) 5/8’’ Dia. x 18’’
	$1.50

	7. 
	SB58A
	Bolts, Shoulder, Cable Anchor Box 
	$0.35

	8. 
	B580122
	Bolt, Splice 5/8’’ Dia. x 1 ¼’’ 
	$0.35

	9. 
	S760
	Box, Cable Anchor 
	$49.25

	10. 
	F1303
	Guardrail, W-Beam, End Section, 12 GA.
	$99.25

	11. 
	F1304
	Guardrail, W-Beam Center Section, 12 GA.
	$49.25

	12. 
	F3000
	Head, Impact 
	$125.00

	13. 
	N100
	Nut, Hex, Anchor Cable 1’’
	$0.50

	14. 
	N050
	Nut, H. G. R. (Splice 16, soil tubes 2, strut 
	$0.35

	15. 
	N055A
	Nuts, Structural ½’’ A325
	$0.25

	16. 
	E750
	Plate, Bearing 8’’ x8’’ x 5/8’’
	$9.00

	17. 
	P650
	Post, Wood 5.5’’ x 7.5’’ x 45’’
	$27.50

	18. 
	P671
	Post, Wood CRT 6’’ x 8’’ x 6’
	$36.25

	19. 
	E350
	Screw, Lag 3/8’’ x 3’’
	$0.35

	20. 
	E740
	Sleeve, Pipe 
	$1.00

	21. 
	E780
	Strut, Ground 
	$77.00

	22. 
	E735
	Tube, Foundation soil  6’’x  8’’ x 6’
	$77.00

	23. 
	W100
	Washer, Anchor Cable 1’’
	$0.25

	24. 
	W050
	Washer, H. G. R. 
	$0.15

	25. 
	W050A
	Washer, STR.  1 2/16’’ OD x 9/16’’ ID, A325
	$0.25


	CATALOG ‘’C-2’’ PRICE SHEET

	FLEAT-350/TL-2 SYSTEM COMPONENT/REPLACEMENT PARTS 

	1.  Guardrail System, Flared Energy Absorbing Terminal, FLEAT TL-2 70 km/hr Design

	(Complete System)                                              5421-014-100

	Price Per System FOB Destination:
	$805.00

	

	2.  Component/Replacement Parts Listing FLEAT TL-2:

	Catalog No.
	Part No.
	Description
	Price

	1. 
	E770
	Assembly, BCT Cable Anchor 
	$22.00

	2. 
	P675
	Block,out, Timber 6’’ x 8’’ x 14’’
	$8.25

	3. 
	B580754
	Bolt, Hex 5/8’’ Dia. x 7 ½’’
	$0.75

	4. 
	B581004
	Bolt, Hex 5/8’’ Dia. x 10’’
	$0.75

	5. 
	B581002
	Bolt, H. G. R (Post 2 Only) 5/8’’ Dia. x 10’’
	$1.25

	6. 
	B581802
	Bolt, H. G. R (Post 3-5) 5/8’’ Dia. x 18’’
	$1.50

	7. 
	SB58A
	Bolts, Shoulder, Cable Anchor Box 
	$0.35

	8. 
	B580122
	Bolt, Splice 5/8’’ Dia. x 1 ¼’’ 
	$0.35

	9. 
	S760
	Box, Cable Anchor 
	$49.25

	10. 
	F1303
	Guardrail, W-Beam, End Section, 12 GA.
	$99.25

	11. 
	F1304
	Guardrail, W-Beam, Center Section, 12 GA.
	$49.25

	12. 
	F3000
	Head, Impact                   
	$125.00

	13. 
	N100
	Nut, Anchor Cable Hex 1’’ 
	$0.50

	14. 
	N050
	Nut, H. G. R. (Splice 16, soil tubes 2, s
	$0.35

	15. 
	N055A
	Nuts, Structural ½’’ A325
	$0.25

	16. 
	E750
	Plate, Bearing 8’’ x8’’ x 5/8’’
	$9.00

	17. 
	P650
	Post, Wood 5.5’’ x 7.5’’ x 45’’ 
	$27.50

	18. 
	P671
	Post, Wood CRT 6’’ x 8’’ x 6’  
	$36.25

	19. 
	E350
	Screw, Lag 3/8’’ x 3’’
	$0.35

	20. 
	E740
	Sleeve, Pipe 
	$1.00

	21. 
	E780
	Strut, Ground 
	$77.00

	22. 
	E735
	Tube, Foundation soil 6’’x  8’’ x 6’
	$77.00

	23. 
	W100
	Washer, Anchor Cable 1’’ 
	$0.25

	24. 
	W050
	Washer, H. G. R. 
	$0.15

	25. 
	W050A
	Washer, STR. 1 2/16’’ OD x 9/16’’ ID, A325
	$0.25


	CATALOG ‘’D-1’’ PRICE SHEET

	ET-2000 PLUS SYSTEM COMPONENT/REPLACEMENT PARTS 

	1.  Guardrail System, Extruding Terminal, ET-2000 PLUS 37’-6’’  TL3

	(Complete System)                                                       5421-014-010

	Price Per System FOB Destination:
	$1,070.00

	

	2.  Component/Replacement Parts Listing ET-2000 PLUS:

	Catalog No.
	Part No.
	Description
	Price

	1. 
	9852A
	Assembly, Strut   5421-000-600
	$77.00

	2. 
	40758

4075B
	14’’ Block, 6 x 8   Block, 6” X 8” x 14”
	$8.25

	3. 
	3497G
	Bolt, Hex HD 5/8’’x 9 ½’’
	$0.75

	4. 
	3500G
	Bolt, Post 5/8’’ x 10’’
	$1.25

	5. 
	3580G
	Bolt, Post 5/8’’ x 18’’
	$1.50

	6. 
	3360G
	Bolt, Splice 5/8’’x 1 ¼’’
	$0.35

	7. 
	704A
	Bracket, Cable Anchor 
	$89.25

	8. 
	3000G
	Cable, ¾ x 6’6
	$22.00

	9. 
	9G
	Guardrail,  12/12’6/6’3/S     
	$49.25

	10. 
	34G 32G
	Guardrail, Panel # 1 12/12’6/6’3/S SRT12/12-1 

5421-010-500
	$89.25

	11. 
	3340G
	Nut, Hex 5/8’’
	$0.20

	12. 
	3910G
	Nut, Hex 1’’          
	$0.50

	13. 
	705G
	Pipe, 2’ x 51/2  2” x 5 1/2”
	$1.00

	14. 
	782G
	Plate, Bearing 5/8 x 8 x 8 
	$9.00

	15. 
	4147B
	WO 3’9 Post 5 ½ x 7 ½    Post, 5.5 x 7.5 x 3’ 9” WO Metal Band at the Top.  Treated Pine   5421-052-200         
	$25.50

	16. 
	40638

4063B
	6’ Post, 6 x 8  Post, 6” x 8” X 6’ (CRT) 2 HolesTreated Pine                                            

5421-052-350
	$35.75

	17. 
	422BG
	Screw, Lag 3/8’’ x 4’’
	$0.45

	18. 
	742G
	Sleeve, Tube 6’0  5421-058-015
	$51.00

	19. 
	995A
	Terminal, ET-2000 Extruder  5421-057-500
	$285.00

	20. 
	3300G
	Washer, 5/8’’
	$0.15

	21. 
	3900G
	Washer, 1’’
	$0.25


	CATALOG D-2 PRICE SHEET

	ET-2000 PLUS/TL-2 SYSTEM COMPONENT/REPLACE PARTS 

	1.  Guardrail System, Extruding Terminal, ET-2000 PLUS TL-2

	(Complete System)

	Price Per System FOB Destination:
	$875.00

	

	2.  Component/Replace Parts Listing ET-2000 PLUS TL-2:

	

	Catalog No.
	Part No.
	Description
	Price

	1. 
	9852A
	Assembly, Strut   5421-000-600
	$77.00

	2. 
	40758

4075B
	14’’ Block, 6 x 8 Block, 6” x 8” x 14” 
	$8.25

	3. 
	3497G
	Bolt, Hex HD 5/8’’x 9 ½’’
	$0.75

	4. 
	3500G
	Bolt, Post 5/8’’ x 10’’
	$1.25

	5. 
	3580G
	Bolt, Post 5/8’’ x 18’’
	$1.50

	6. 
	3360G
	Bolt, Splice 5/8’’x 1 ¼’’
	$0.35

	7. 
	704A
	Bracket, Cable Anchor 
	$89.25

	8. 
	3000G
	Cable, ¾ x 6’6
	$22.00

	9. 
	9G
	Guardrail,  12/12’6/6’3/S
	$49.25

	10. 
	34G 32G
	Guardrail, Panel # 1 12/12’6/6’3/S SRT12/12-1   

5421-010-500
	$89.25

	11. 
	3340G
	Nut, Hex 5/8’’
	$0.20

	12. 
	3910G
	Nut, Hex 1’’
	$0.50

	13. 
	705G
	Pipe, 2’ x 51/2
	$1.00

	14. 
	782G
	Plate, Bearing 5/8 x 8 x 8 
	$9.00

	15. 
	4147B
	WO 3’9 Post 5 ½ x 7 ½  Post, 5.5 X 7.5 X 3’ 9” WO Metal Band Around the Top

5421-052-200    
	$25.50

	16. 
	40638

4063B
	6’ Post, 6 x 8  Post,  6” x 8” x 6’ (CRT)  2 Holes Hem Fir 

5421-052-350
	$35.75

	17. 
	422BG
	Screw, Lag 3/8’’ x 4’’
	$0.45

	18. 
	742G
	Sleeve, Tube 6’0      5421-058-015
	$51.00

	19. 
	995A
	Terminal, ET-2000 Extruder 5421-057-500
	$285.00

	20. 
	3300G
	Washer, 5/8’’
	$0.15

	21. 
	3900G
	Washer, 1’’
	$0.25


	CATALOG E-1 PRICE SHEET

	SKT-350/TL-3 SYSTEM COMPONENT/REPLACEMENT PARTS

	1.  Guardrail System, Sequential Kinking Terminal, SKT-350

	(Complete System)

	Price Per System FOB Destination:
	$1,090.00

	

	2.  Component/Replacement Parts Listing SKT-350:

	Catalog No.
	Part No.
	Description
	Price

	Catalog No.
	Part No.
	Description
	

	1. 
	E770
	Assembly, BCT Cable Anchor 
	$22.00

	2. 
	P675
	Block, out, Timber 6’’ x 8’’ x 14’’
	$8.25

	3. 
	B580754
	Bolt, Hex 5/8’’ Dia. x 7 ½’’
	$0.75

	4. 
	B581004
	Bolt, Hex 5/8’’ Dia. x 10’’
	$0.75

	5. 
	B581002
	Bolt, H. G. R (Post 2 Only) 5/8’’ Dia. x 10’’
	$1.25

	6. 
	B581802
	Bolt, H. G. R (Post 3-5) 5/8’’ Dia. x 18’’
	$1.50

	7. 
	SB58A
	Bolts, Shoulder Cable Anchor Box 
	$0.35

	8. 
	B580122
	Bolt, Splice 5/8’’ Dia. x 1 ¼’’ 
	$0.35

	9. 
	S760
	Box, Cable Anchor 
	$9.00

	10. 
	S1303/S1305
	Guardrail, W-Beam, End Section, 12 GA. ,12.5’ or 25’
	$99.25

	11. 
	S1203/G1205
	Guardrail, W-Beam 12 GA., 12.5’ ,or 25’
	$49.25

	12. 
	S3000
	Head, Impact 
	$285.00

	13. 
	E3151
	Marker, Impact Face Object 
	$23.00

	14. 
	N100
	Nut, 1’’ Anchor Cable Hex 
	$0.25

	15. 
	N050
	Nut, H. G. R. (Splice 16, soil tubes 2, strut 2 post 2, 1; Post 3 through 5, 3.)
	$0.35

	16. 
	N055A
	Nuts, Structural ½’’ A325
	$0.25

	17. 
	E750
	Plate, Bearing 8’’ x8’’ x 5/8’’
	$9.00

	18. 
	P650
	Post, Wood 5.5’’ x 7.5’’ x 45’’
	$27.50

	19. 
	P671
	Post, Wood CRT 6’’ x 8’’ x 6’’
	$36.25

	20. 
	E350
	Screw, Lag 3/8’’ x 3’’
	$0.35

	21. 
	E740
	Sleeve, Pipe 
	$1.00

	22. 
	E780
	Strut, Ground 
	$77.00

	23. 
	S730
	Tube, Foundation Soil  6’’x  8’’ x 6’
	$77.00

	24. 
	W100
	Washer, 1’’ Anchor Cable 
	$0.50

	25. 
	W050
	Washer, H. G. R. 
	$0.15

	26. 
	W050A
	Washer, STR.  1 2/16’’ OD x 9/16’’ ID, A325
	$0.25


	CATALOG E-2 PRICE SHEET

	SKT-350/TL-2 SYSTEM COMPONENT/REPLACEMENT PARTS 

	1.  Guardrail System, TL-2 Sequential Kinking Terminal, SKT -350

	(Complete System)

	Price Per System FOB Destination:
	$990.00

	

	2.  Component/Replacement Parts Listing SKT-350:

	Catalog No.
	Part No.
	Description
	Price

	1. 
	E770
	Assembly, BCT Cable Anchor 
	$22.00

	2. 
	P675
	Block,out, Timber 6’’ x 8’’ x 14’’
	$8.25

	3. 
	B581004
	Bolt, Hex 5/8’’ Dia. x 10’’
	$0.75

	4. 
	B581002
	Bolt, H. G. R (Post 2 Only) 5/8’’ Dia. x 10’’
	$1.25

	5. 
	B581802
	Bolt, H. G. R (Post 3-5) 5/8’’ Dia. x 18’’
	$1.50

	6. 
	SB58A
	Bolts, shoulder, cable, anchor box 
	$0.35

	7. 
	B580122
	Bolt, Splice 5/8’’ Dia. x 1 ¼’’ 
	$0.35

	8. 
	S760
	Box, Cable Anchor 
	$49.25

	9. 
	S1303/S1305
	Guardrail, End Section, W-Beam 12 GA. 
	$99.25

	10. 
	S1203/G1205
	Guardrail, Center Section, W-Beam 12 GA. 
	$49.25

	11. 
	S3000
	Head, Impact 
	$285.00

	12. 
	N100
	Nut,  Anchor Cable Hex 1’’
	$0.50

	13. 
	N050
	Nut, H. G. R. (Splice 16, soil tubes 2, 
	$0.35

	14. 
	N055A
	Nuts, Structural ½’’ A325
	$0.25

	15. 
	E750
	Plate, Bearing 8’’ x8’’ x 5/8’’
	$9.00

	16. 
	P650
	Post, Wood 5.5’’ x 7.5’’ x 45’’
	$27.50

	17. 
	P671
	Post, Wood CRT 6’’ x 8’’ x 6’’
	$36.25

	18. 
	E350
	Screw, Lag 3/8’’ x 3’’
	$0.35

	19. 
	E740
	Sleeve, Pipe 
	$1.00

	20. 
	E780
	Strut, Ground 
	$77.00

	21. 
	S730
	Tube, Foundation soil  6’’x  8’’ x 6’
	$77.00

	22. 
	W100
	Washer, Anchor Cable 1’’
	$0.25

	23. 
	W050
	Washer, H. G. R. 
	$0.15

	24. 
	W050A
	Washer, STR.  1 2/16’’ OD x 9/16’’ ID, A325
	$0.25


SECTION III-SPECIFICATIONS

INVITATION FOR BID NO. 12101

TITLE:  GUARDRAILS, METAL, AND COMPONENTS

	SPECIFICATION
	CHECK IF AS SPECIFIED
	DESCRIBE IF NOT AS SPECIFIED

	The following Specifications describe Beam Guardrails and Components per requirements of Washington State Department of Transportation 2004 Standard Specifications for Road, Bridge, and Municipal Construction Section 9-16.3 through 9-16.3(6) and Standard Plans Section C.
	· 
	

	9-16

                                            FENCE AND GUARDRAIL
	· 
	

	9-16.3

Beam Guardrail
	· 
	

	9-16.3(1)
Rail Element
	· 
	

	The W-beam or thrie beams rail elements, backup plates, reducer sections, and end sections shall conform to "A Guide to Standardized Highway Barrier Hardware" published by AASHTO, AGC, and ARTBA. All rail elements shall be formed from 12 gage steel except for thrie beam reducer sections, thrie beams used for bridge rail retrofits, and Design F end sections, which shall be formed from 10 gage steel.


	· 
	

	The rail splices shall have a minimum total ultimate strength of 80,000 pounds at each joint.


	· 
	

	The 6inch channel rails and splice plates shall conform to ASTM A 36. All fabrication shall be complete before galvanizing.


	· 
	

	The holes in the plate shall be slotted to facilitate erection and to permit expansion and contraction. The edges of the rail shall be rolled or rounded so they will present no sharp edges. Where the rail is on a curve, the plates at the splice shall make contact throughout the area of splice. When the radius of curvature is less than 150 feet, the rail shall be shaped in the shop.


	· 
	

	9-16.3(2)
Posts and Blocks
	· 
	

	Posts and blocks may be of creosote treated timber, pentachlorophenol treated timber, waterborne chromated copper arsenate (CCA), ammoniacal copper arsenate (ACA), ammoniacal copper zinc arsenate (ACZA) or ACQ, treated timber or galvanized steel; except only treated timber posts and blocks may be used for weathering steel beam guardrail. Blocks made from alternate materials that meet the NCHRP Report 350 criteria may be used in accordance with the manufacturer’s recommendations. Except for terminal or anchor assemblies, all posts for any one project shall be of the same type (wood or steel). Posts and blocks shall be of the size and length shown in the Plans and meet the requirements of these Specifications. Posts and blocks may be S4S or rough sawn.

	· 
	

	Timber posts and blocks shall conform to the grade specified in Section 9-09.2, except pine lumber No. 1 grade may be used for the blocks.  Timber posts and blocks shall be fabricated as specified in the Plans before being treated.  Timber posts and blocks shall be treated by the empty cell process to provide a minimum retention, depending on the treatment used, according to the following:
	· 
	

	 Creosote oil                                                 12.0 lbs. pcf. 
	· 
	

	Pentachlorophenol                                       0.60 lbs. pcf.
	· 
	

	ACA                                                             0.50 lbs. pcf.
	· 
	

	ACZA                                                          0.50 lbs. pcf.
	· 
	

	ACQ                                                             0.50 lbs. pcf.
	· 
	

	CCA                                                             0.50 lbs pcf.
	· 
	

	Treatment shall be in accordance with Section 9-09.3

 Steel posts, blocks, and base plates, where used, shall conform to ASTM A 36, and shall be galvanized in       accordance with AASHTO       M 111. Welding shall conform to Section 603.3(25). All fabrication shall be completed prior to galvanizing.
9-16.3(3) Galvanizing

Beam rail elements and terminal sections shall be galvanized in accordance with AASHTO M180, Class A, Type 2, except that the rail shall be galvanized after fabrication, with fabrication to include forming, cutting, shearing, punching, drilling, bending, welding, and riveting. In addition, the minimum average mass of zinc coating shall be 2 ounces per square foot of surface (not sheet), the average to be determined on the basis of three individual tests, no one of which may be less than 1.8 ounces per square foot of surface (not sheet). The aluminum content of the zinc bath during actual galvanizing operations shall not exceed 0.01 percent. Channel rails, splice plates, WF steel posts, and base plates shall be galvanized in accordance with ASTM A 123. Anchor cables shall be galvanized in accordance with Federal Specification RRW410, Table II, galvanized at finished size. Bolts, nuts, washers, plates, rods, and other hardware shall be galvanized in accordance with ASTM A 153.

9-16.3(4) Hardware

Bolts, unless otherwise specified, shall comply with ASTM A 307 Grade A ­specifications. High strength bolts shall conform to the requirements of AASHTO M 164. Nuts shall comply with ASTM A 563 Grade A specifications. Washers, unless otherwise specified, shall meet ASTM F 844 specifications. The Contractor shall submit a manufacturer’s certificate of compliance for the bolts, nuts, and washers prior to installing any of the hardware.

	· 
	

	9-16.3(5)
Anchors
	· 
	

	Welding shall conform to Section 6-03.3(25).

All welding shall be equal in strength to the parent metal.

All fabrication shall be complete and ready for assembly before galvanizing.  No punching, drilling, cutting, or welding will be permitted after galvanizing unless authorized by the Engineer.
	· 
	

	The anchor plate assembly and eye bolt for Type 1 anchor shall develop a minimum tensile strength of 40,000 pounds.  The eye may be drop forged or formed with a full penetration weld and shall develop 100 percent of the rod strength.
	· 
	

	The anchor plate, W8 x 17 and metal plates shall be fabricated of steel conforming to the specifications of ASTM A 36.
	· 
	

	Anchor cable for Type 1 anchor shall be 3/4 inch preformed, 6 x 19 wire strand core or independent wire rope core (IWRC), galvanized, right regular lay manufactured of improved plow steel with a minimum breaking strength of 42,800 pounds.  Two certified copies of mill test reports of the cable used shall be furnished to the Engineer.


	· 
	

	Swaged cable fittings shall develop 100 percent of the specified breaking strength of the cable.  One swaged fitting attached to 3 feet of cable shall be furnished to the Engineer for testing.
	· 
	

	The swaged fitting and stud assembly shall be of steel conforming to the requirements of American Iron and Steel Institute C-1035 and shall be annealed and galvanized suitable for cold swaging.


	· 
	

	Welded wire fabric for Type 1 anchor shall conform to ASTM A 185
	· 
	

	All metal components of the anchor and cable assembly and not less than the top 14 inches of the W8 x 17 for the Type 2 anchor shall be hot-dip galvanized in accordance with Section 9-16.3(3).
	· 
	

	Cement concrete, of the class specified, shall conform to the applicable requirements of Section 6-02.3.
	N/A
	

	Cement grout shall consist of one part Portland cement and two parts sand.
	N/A
	

	9-16.3(6)
Inspection and Acceptance
	
	

	The Contractor shall give notice to the Engineer before the rail elements are fabricated in order that inspections may be provided.  The Contractor shall arrange for all facilities necessary for the inspection of material and workmanship at the point of fabrication of the rail elements, and inspectors shall be allowed free access to necessary parts of the premises.
	· 
	

	The Inspector shall have the authority to reject materials or workmanship which to not fulfill the requirements of these specifications.  In cases of dispute, the Contractor may appeal to the Engineer, whose decision will be final.
	· 
	

	The Inspector may accept a mill test report certifying that the steel used in fabricating the rail element meets the requirements of the specifications.  The State reserves the right, however, to require the contractor to furnish samples of the steel proposed for use and to determine to its satisfaction that the steel meets the specification requirements.  Steel rail elements, fittings, terminal section hardware, and bolts may be accepted by the Engineer based on the Manufacturer's Certification of Compliance.
	· 
	


SECTION III SPECIFICATIONS CONTINUED:

TITLE:  GUARDRAIL TERMINALS AND COMPONENTS

The following list of drawings represents the Guardrail Terminals and Components to be purchased from this section of the contract. Copies of these drawings may be obtained by one of the web site links below. 

DRAWING NO. 1:
SS- 444 (SRT-350) 


SHEET 1 of 1
BID CATALOG ‘’B’’

DRAWING NO. 2:
FLT-US (FLEAT-350)


SHEET 1 of 1 
BID CATALOG ‘’C-1’’
DRAWING NO. 3:
FLT-TL2US (ET-2000) 

SHEET 1 of 1
BID CATALOG ‘’C-2’’

DRAWING NO. 4:
SS-262 (ET-2000 PLUS)

SHEET 1 of 1 
BID CATALOG ‘’D-1’’

DRAWING NO. 5:
SS-120  (ET-2000 TL2) 

SHEET 1 of 1 
BID CATALOG ‘’D-2’’

DRAWING NO. 6:
SKT-2US (SKT-350) 


SHEET 1 of 1 
BID CATALOG ‘’E-1’’

DRAWING NO. 7:
SKT-W-TL2-US (SKT-350-TL2) 
SHEET 1 of 1 
BID CATALOG ‘’E-2’’

Internet website connections:

 below is a link to all of the standard plans

http://www.wsdot.wa.gov/eesc/design/designstandards/index.htm
below are links to each indivdual standard plan that are referenced in this document

http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C1.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C1a.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C1b.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C1c.htm
SECTION III SPECIFICATIONS CONTINUED:

http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C2f.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C2g.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C6.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C6a.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C6c.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C6d.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C6f.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C7.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C7a.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C11.htm
http://www.wsdot.wa.gov/eesc/design/designstandards/HTM/C11b.htm
 the link below is to the manufacturers drawings for the terminals

 http://www.wsdot.wa.gov/EESC/Design/Policy/RoadsideSafety/Chapter710/Chapter710B.htm

OFFICE OF STATE PROCUREMENT

PERFORMANCE REPORT

To OSP Customers:

Please take a moment to let us know how our services have measured up to your expectations on this contract.  Please copy this form locally as needed and forward to the Office of State Procurement Purchasing Manager.  For any comments marked unacceptable, please explain in remarks block.

	Procurement services provided:
	Excellent
	Good
	Acceptable
	Unacceptable

	· Timeliness of contract actions
	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 


	· Professionalism and courtesy of staff
	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 


	· Services provided met customer needs
	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 


	· Knowledge of procurement rules and regulations
	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 


	· Responsiveness/problem resolution
	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 


	· Timely and effective communications
	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 

	 FORMCHECKBOX 



Comments: 















Agency: 






 
Prepared by: 














Title: 






Contract No.: 







Date: 






Contract Title: 






Phone: 





Send to:

Purchasing Manager

Office of State Procurement

PO Box 41017

Olympia, Washington 98504-1017
PRODUCT/SERVICE PERFORMANCE REPORT

Complete this form to report problems with suppliers or to report unsatisfactory product or services.  You are also encouraged to report superior performance.  Agency personnel should contact suppliers in an effort to resolve problems themselves prior to completion and submission of this report.

Contract number and title: 












Supplier’s name: 





 Supplier’s representative: 




	PRODUCT/SERVICE:



	 FORMCHECKBOX 

	Contract item quality higher than required
	 FORMCHECKBOX 

	Damaged goods delivered

	 FORMCHECKBOX 

	Contract item quality lower than required.
	 FORMCHECKBOX 

	Item delivered does not meet P.O./contract specifications

	 FORMCHECKBOX 

	Other:
	
	

	SUPPLIER/CONTRACTOR PERFORMANCE:



	 FORMCHECKBOX 

	Late delivery
	 FORMCHECKBOX 

	Slow response to problems and problem resolution

	 FORMCHECKBOX 

	Incorrect invoice pricing.
	 FORMCHECKBOX 

	Superior performance

	 FORMCHECKBOX 

	Other:
	
	

	CONTRACT PROVISIONS:



	 FORMCHECKBOX 

	Terms and conditions inadequate
	 FORMCHECKBOX 

	Additional items or services are required.

	 FORMCHECKBOX 

	Specifications need to be revised
	 FORMCHECKBOX 

	Minimum order too high.

	 FORMCHECKBOX 

	Other:
	
	


Briefly describe situation: 



























	Agency Name:
	Delivery Location:

	Prepared By:
	Phone Number:
	Date:
	Supervisor:

	
	
	
	


Send To:

Kenneth A. Woodfork

PROCUREMENT UNIT MANAGER
OFFICE OF STATE PROCUREMENT

PO BOX 41017

OLYMPIA WA  98504-1017
5

